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PUBLIC ADMINISTRATION / %88 @&&a@as
Paper - III / 536 - 111

1.  Which one of the following is not related | 1, (808 oo8&® SPsS (Baesy Jrodsd
to New Public Administration ? 502080558 D8 ?

{(A) Emphasis on the ethical dimension

of Public Administration @ & 83'3&‘55 Fods g 8srodoRp
SPETYPe
(B) Administration with social
concerns, participation and (B) P&raE Qyi, gPrRrySagsin oBah
decentralisation &)go@ééeaen Ke> @@5‘3 Foerss
(C) Based on normative political « ° “
theory O BSrerd)s ooasdd DERodo HHT

aoddo

(D) Facts and values dichotomy
(D) dfo'@c;m - Jdende Bgrerdsn

2.  Arrange the following in a chronological

order - 2. (808 B a8 o [EHEs® DB :
(@) Public Management () .{5335355 Qe

(b) New Public Management (b) BréS (Hpey Vdes

(¢) New Public Administration © &S Heody o

(d) Public Administration @ e o

Codes : gsg‘) .

A @, ©, @), O : (A (@), (0, (a), (b)

B) @), (@), (), @ | (B) (b), (a), (¢}, (d)

©) (o), @), ®), @ € (o), @), (b), (@)

D) (@), ®), ©, @ D) @), M), (9, (@)
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Which of the following reasons
prompted Woodrow Wilson to advocate
a Science of Administration ? Select the
correct answer by using codes given
below :

(a) The desire to strengthen the path
of government

(b) The need to raise a band of dutiful
Civil Servants

{¢) The idea of making government
business less business like

(d) The intention to strengthen and
purify government organisation

Codes :

(A) (2)and (d)
(B} (b) and (d)
(Cy (a), (b) and (c)
(D) (a), (c) and (d)

Match the following List-I with List-II
by choosing correct code :

List-I List-II
(Books) (Authors)

(a) Introduction (1) ChesterI
to study of Barnard
Public
Administration

(b) Functions of (1) Herbert A.
Executive Simon

(c) Reinventing (1) David
Government Osborne

and Gabler

(d) Administrative (iv) L.D. White
Behaviour

Codes :

(@ (b) () (d)
A) @Gv) G) @ (i)
B) Gi) @ @@ ()
(Cy ) @G Gv) @)
(D) Gv) Gy )

00 00 G

Bod 8% O sBeren alE° DS o8

FoT Jonodds 6‘@‘3& (B8DBoHLT

(D86 Draw ? (Bod TBS® O (HELSen

2.8% BeoHim.

(@) PeHSD o) ot o Sored
1ol

() o8 arggEraiod $208%E%A QoY
Srrobos eS5ES

(©  EHE0 DI S0 S8 Ko S
Ergrofomren eetss

(@) (Ba0dy 85558608 asthEswn
8o (PSS Bodred werd

%%, :

(A) (a) o6a%» (d)

(B) (b) DBt (d)

(C) (a), (b) B (c)

(D) (@), (c) Hdcs» (d)

BSOS B0 9800 (Bod Both HBEeH
2SDEEHED

S8 -1 B8 - 11
(Hogren) (Bofsten)

(a) =OWEES & () ;3§5 ®
88 ©f 995 200
@&&3@&5 :

(b) HoES) S i) =G
VAT AL) . S

(c) baodoR (i) Z0& uBef)
KSGD0ts wol Aigh

(d) ©&ARBS (iv) oHS.&. 365
DIQAHE

&g :

(@ (b) (c) (d)
Ay Gv) (i) @ Gid)
B) (i) @) (i) (iv)
© Gy G 6
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5. Match the following List-I with List-II
by using correct code given below :

List-1
{a) Public Administration
studies have to claam
the status of a science

List-1I
(1) E. Weidner

(b} Development
Administration is goal
and action oriented

(i1) Hahn-Been Lee

(c) Bureaucratic
Structures are
necessary but not
sufficient

(d) Development is both a
process and a purpose

(111) Robert Dahl

(iv) V. Ostrom

Codes :

(@ () (© (d)
A (i) @ 3@ G
By (i) (@) Gv) ()
(C) Gvy G @D @
D) G G v @

6. Arrange the following in a chronological
order :

(a) Behavioural Approach
(b) Scientific Management
(c) Public Policy Approach
(d) Human Relations Theory
Codes :

(A) (a), (@), (D, (b)

(B) ®), @, (@, ©

©) (©, O), (d), @

D) (D), (¢, (a), (b)

Paper-I11

5. RO 5% 190D Bod Both 8B
2388580 :

5%5—1 5%5-11
(a) D0&K Forggodaren o8 (1) = DB
S [H8988 G Soed
(b) @rored offgeysse (i) 95-85
50050 (BRmraSeS
©00J
(c) e&inargtng Dopen
SDNEDIH B8 S0
o @D oY
(d) @5)263% o306 2.8 DB
Hoawn .8 eggo
&5 :
(a) (b) (c) (d)
Ay Gi) @ G) @Gv)
B) (i) @ aGv) G)
© Gv) @) @) @
D) @) Gy v O

(iti) ooaf &

@iv) D. oo

6. (BoB B o TeH EHENE® DEBHSD :

(a) DSBS GFPSw

b) D e

(c) (Bghey Dord Kydasw
(d) {w;ﬁé Sozogre dg'af’)éém
&8, :

A) (a), (), ), (b)

B) O, (D, @, ©

© (), (), @), (@
D) (@, (), (@), ®b)

C-21-17




7.

(a)
)

(©)

@

Match the following List-I with List-II
by choosing the correct code :

List-I List-II

Henry Fayol () POSDCORB
Gulick and (i) Four

Urwick Principles
Mary Parker (iii) Motivation
Follet and Leadership
Mouney and (iv) Fourteen

Reilay Principles of
organisation

Codes :

@ (b) () (d)
A) () @ 3Gv) G
B) Gv) @) @ 3D
(C) Gv) @) (@i - Gi)
» G @) (v O

Assertion (A) :

The New Public Management is a mere
extension of New Public Administration.

Reason (R) :

The II Minnowbroke Conference
followed the I Minnowbroke Conference
after twenty years.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)

is not the correct explanation of

(A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Paper-III

AR A

B8Go Etoio 19800 (Bod Both BB
SESBHE

S8 -1 585 - 11
(@) 290 %S () POSDCORB
(b) XO8 DB (1) weenrdHd

&0¢8 NHSmeen
© Db 85 (iii) (e 85w
> TP ASHE B
@ Hrd 2B (iv) Demeerd
3d H558%0e
NoH3ren
§GE‘3 :

(@ (b (¢ (d)
(A) @iy @ @) @)
B) Gv) (i) O Gb
© v @ i) @)
D) Gy @) (v) @)

BOIES (A) :

S (G4 Dsyiees, S a0k B0
Fo¥) BP0 S,

THH (R) :

838 DShorE S5rI o I
DTS S5rB80 oo 20 BoBB TS
2BASG.

85 :
(A4) (A), (R) Bokr B33 Hdao (R),
(A)% 8BS D5ea.

(B) (A), (R) Bot» IBSF, =90 (R, (A)
% 503 DS .

(©) (A)RPST, = (R) Sy,
D) (A) 85, 5°0 (R) $B56.
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8. Which of the following is not a tool of
exercising control over administration ?

(A) Power
removal

of appointment and

(B) Line agencies
(C) Appeal to public opinion
(D) Civil Service Code

10. Match the following by choosing the
correct code :

List-I List-T1
(Thinkers) (Theories/Concepts)
(a) Mec Gregor (1) Changing
organisation
(b) Chester L. (ii) Management
Barnard , Systems
(¢) Warren Bennis (iii) Theory X
and Theory
‘Yl
(d) Rensis Likert (iv) Informal
organisation

Codes :

(a) (b) (¢) (d)
Ay i) @Gy ) @
B Gv) (i) @) @)
(©) @iy Gv) () @
D) Gy @ (@) av)

11. The Hawthrone Experiments of Ealton
Mayo revealed the importance of :

(A) Management response to workers

demands
(B) Standardisation of work
procedures
(C) Informal social forces in the
organisation
(D) Payment of wages on group basis
Paper-I11

10,

11.

od 8% o Jdho(FnH ¥
FEHEN 00 B ?

(A) SeHEo IS, SoRoLL
KomohHodd edsedo

(B) 83 »@Yyew
(C) Berddrcho FEE JRBoSE
D) DS BB [BIBT AoIwS

BOES S HBoD Bob Botd HBEOH
e DEHED :

585 -1 56 - 11
(B8B8e) (drzomreo/griden)
() DEPRE () SmoEoR S5
(b) Béﬁ (i) Dgsoes a‘)éa‘);ge»
8. 29070
() =BSBIG (i) ‘D) Veposiy, T
?ocs;oéén
(d) DYS OBF (iv) eroFSL K5

555‘3 :

(a) (b (© (@
(A) @i () ) @
B) Gv) () @ G
(Cy (i) @Gv) @) @
D) Gy @ @) Gv)

S DA BrY) Heeh) HEEren B
BrorsgEs Spd Brow :

(A) a8 SB5eH JovgEirHe JosS
(B) $9 Sgde HErdLsntn

©) H5IHE°Q oS Fray Fhe
(D) HErSe (FBHOES I85 BYoHen
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12. Match the following List-I with List-IT

by choosing the correct code given
below :

List-I
(a) Hawthrone

List-II

(1) John Gaus
Experiments

(b) Mental

Revolution

(ii) Henry Fayol

(¢) Principles of (111) Roethlisberger

Organisation
(d) Ecological (iv) F.W. Taylor
Approach
Codes :
(@ (b (¢ ()
A) (i) Gv) () @
B) @v) @i) @) @G
€ G 3(v) @) @)
D Gv) Gi) () @
13. Assertion (A) :
There is no one best style of leadership
universally applicable to all situations.
Reason (R) :
A leadership style may be effective
under one situation and ineffective
under the other.
Codes :
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
Paper-III
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13.

aSBARD
58% -1 S8% -11
(a) el 1) =28 ™
(SSoereen
(b) Ho528 (i) 3o HaHhs
AT
() 5HQELe (iii) 5°852y5
JcSdren
(d) DBJERomol  (iv) . Sy Bob
)5BS
5 :
(@ (b) (c) (d)
A @) v G) @
® @ Gi) @ @
© @) (v 3G @
D) Gv) @) G @
SBFES (A) :

o) HoPPoH JErSore 5803 28 2.8
&85 TOLSE 30 030 Db S,
TEHH R)

2.8 TADLES 3O o8 BBHBS® BHworrs
WOE 56RBE° Agoorrs BB,
5 :

(4) (A), (R) ot IBES 85w (R),

(A) S 5B Q5es.

(A), (R) Bo&kr 3333, =D (R), (A)
B DS DSBea o0,

(A) 53538, 5 (R) &5y
(A) 83y, = (R) 5358

B)

(©)
(D)

C-21-17




0GR

14.

15.

16.

Which one of the following is not a staff
agency in India ?

(A)
®)
(C)
(D)

Cabinet Secretariat
Cabinet Committee
Department of Economic Affairs

Prime Minister’'s Office

Assertion (A) :

A tenet of Scientific Management is
cooperation and harmony between
workers and Management.

Reason (R) :

Taylor believed
management.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

in participative

B)

(€)
D)

Which of the following is not a feature
of informal organisation ?

(A) Rules and norms are promulgated

by small work groups

It is rational

(B)
©)

Represents the views of human
relations

(D) Legitimacy of social sanction

Paper-III

14. (Bod a8 3r88cH FF Dal) =06 38 ?

15.

16.

(A)
B
(C)
>
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S5 RS

e—sgé JRSore Ho@dy e
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SOES (A) :

FRAH Ay Hre ArEed sh e,
heimie S SEPS; 058,

wHDH (R):

Sodd ere i Argiogasond D Eeeadd
3)-3:5&0:‘.)‘63.

5553 .

(A) (A), (R) Botr $BSS Sodas» (R),

(A) % $BS D583,

(A), (R) Bo&» $BSS =2 (R), (A)
% B8 DBBes .

(A) 5358 =9 (R) &Y.

(B)

©

D) (A) 85 =2 (R) 3TR8.

1Bod TRE® eroFIBE B oFresio SR8
o0 ?

(A) DabErY, EErweD) a8 95 YR

S0 206 Tikod.

(B) wbd rHEDIB.

(C) =d eSS Sozogro K)XGeRS

(D85 S0

SEPug SHN® Sroom @b
Se85need) rothEos.

D)
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18.

Which of the following statements are
true of hierarchy ? Select the correct
answer using the codes given below :

(2)
(b)

Makes consensus possible

Provides for a channel of

communication

Provides different levels of
decision making

(c)

(d) Facilitates delegation of authority
Codes :

(A) (a), () and (¢}

(B) (b), (c) and (d)

(©) (a), (¢} and (d)

(D) (b), (a) and (d)

Match the List-I with List-II by using
the correct code given below :

List-I List-I1
Thinker Statement

F.A. Nigro(i) It's real core
consists of the
basic services

(a)

(b) H. Fayol (i) A great creative
force with men’s
welfare as its

ideal

No government
can exist without
it

Its processes are
universal

(cy P. Appleby(in)

(d) D. Waldo (iv)

Its chief function
is to facilitate

\9]

Codes :
(a)
M
(1)
)
(111}

(b (<)
(i) (i)
(iv) (iii)
(iv) (i)
(i) @)

(d)
(iv)
(11)
@)
W)

(4)
(B)
©
)

Paper-III
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17. 806 8BS° 8BS %% JoHED

18.

ESrenrd (FB 900D (80D RS

(H8&Den 2.8% Benhdn ?

(a) =6 55‘5)@"(1‘53"&'\)& 3‘@@0&

b) =6 RPFoeed a8 SR DD

© ad 93 bgo:oéﬁ D corE Seaido
ABY00

d) 20O HTEEEED Foire HEHod

%) :

(A)  (a), (b) HB (¢}

(B) (b}, (c) B3 (d)

©) (@, (c) bt (d)

Dy (D), (a) 6w (d)

50EoS & JoHED (E0d Bok
DBLOD adDEHIW ¢
S8 -1
[
3::5;06§§.
3.9, HF* ()

5%5 -1I

(PSS
82t oo
SRS DHew
Sr$H Sogdoo
wSBore SOAS 2.8
") @amé&é L]
20 Fgoae D
(SaodsSor B0
Al 3Ta%)
&2 HBcHen
FEYSseen
83 Sowpg DO
PoEre HB8SK0

(2

M) S D0HS (i)

(€ 2 o2& (iii)

d & avesi

()
W

Sy

(a) (b) (o)
(1) () @G
1 av) (3ii)
v vy @)
(i) (1) @

(d)
(iv)
(i1)
(i)
)

(A)
(B)
(©)
(D)
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19. Which of the following are the features
of the classical theory ? Select the
correct answer by using codes given
below :

(a) Specialisation
(b) Efficiency

{¢) Institution
(d) Hierarchy
Codes :

(A) (a), (b) and (d)
(B) (@), (© and (d)
(C) (), (&) and (d)
(D) (&), (b) and (c)

20. Arrange the following in a chronological
order :

(a) Lord Curzon

(b) Lord Mayo

(¢} Lord Rippon

(d) Warren Hastings
Codes :

(A (a), (0), (d), ()
(B) (o), (b), (a), (d)
© @), @), @, b
Dy @, ), (©, (a)

21. According to Mary Parker Follet :

(a) Authority is derived from
function.

(b) Authority is derived from
hierarchy.

(¢) Authority belongs to the job.

(d} Authority comes from experience.
Codes :

(A) (a), (b) and (c} are correct

(B) (a), {¢) and (d) are correct

(C) All are correct

(D) (a) and (b) are correct

Paper-I1I

19. 8od 8BS SolBmrad BERoSHD oFEre
D ? HBFR S NoWHED JSFLEESD
a8 :

(@) BEEssnsn

(b) Lol

{c) éo‘:g

(d) (ESrers3D
%8, :

(A) (a), (b) B (d)
(B) (a), (c) s0cww (d)
(©) (b), (c) DoBcso (d)
(D) (a), (b) 5605 (c)

20. (8od & 2.8 oY EHind® DGBHIw :
(a) 55 B
(b) DA (HeHDH
(@ BHS D80
(d) 88 ﬁ?’goﬁ‘a
§GE’) :

4) (a), (o), @), (b)
B) (©, ®), (), @
(C) (@), (), ©, ()
D) (@, 0}, @, @

21. 0 ;5 FBE wPEraHw Hevo
@ Do Dod ©HTEHy HYB
(b) (ESrenid 1B 00D LOHTEID

REY0b
(c) @HTESD I8 J3020H0D58
(d) oDFSHH Hod) vhHEEw Hod
%6y :
(A) (a), (b) DA (c) POTID
(B) (a), (c) s0Basn (d) PHOGHID
(C) o) JBG@ID
(D) (a) SoBSSH (b) SOGID
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22. Match the following by choosing the | 22, $8&S S JoHED Bod BokoBd
correct code : aéﬁ_éé %
List-I List-II - ' g
(Thinkers) (Books) Bgs -1 Bgs - 11
(a) Dwight Waldo (i) Politics and (bagoéé_dp;) (Hozren)
Administration (@) B o (i) rOBE) wok
(b) Frank J. (ii) The principles @&&3@&5
Goodnow of organisation (b) (3roE &. (i) & DYDS)
(c) James D. (iii) Organisations m&‘cl ) @té@éa.%
Mooney and (0 3§ & (iif) e33FNS)
Allan C. Reiley S0 S8c%0
(d) James G. March (iv) Public werS .35
and Herbert A. Administration () 553“) 2. gys& (iv) HO8
Simon in the Time of R @"é S
Turbulence 28 AR
Codes : D255 a5 & BS 6
@ (®) () @ ” &BYBYY
@ © @) G G B @ & © @
.. : . a c
SO IR @ © i) G v
© Gvy @ @) @i (B) Gi) Gi) Gv) @)
D) @ Gv) ) Gid) © (v) @ @) 3G
D)y () Gv) @ (ib)

23.

Assertion (A) :

Henry Fayol does not make a distinction
between public and private
administration.

Reason (R) :

According to him all undertakings
require planning, organisation,
command, coordination and control in
order to function effectively.

23.

BOFES (A) :

TR DOHS (H808 o, (Howden Jes

36 S0 3HBe.
>HH (R) :

&aD ©dErchod® HEsore HODHLeIS
o) Sogenss Berdssm, 58588,
esTBoE0, Brieo, Aaboigeen CRE

Codes : 555‘3 :

(A) Both (A) and (R) are true and (R) (A) (A), (R) Bo&w @_és S8k (R),
is the correct explaqation of (A) (A) & $BS D5Beo

B ot the orrert explanation of | B (), (W) ot 553 56 ®), )
(A) £ 98BS DHIBes 0D

(C) (A) is true, but (R) is false (C) (A)RZEB, =0 (R) Sy

D) (A) is false, but (R) is true D) (A) 85y, s (R) 5858
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24, Match List-I with List-IT and select the
correct answer from the codes given

below :

List-1
Thinkers

List-11

Definations of the

organisation

(a) Morstein Marx (i)

(b) J.D. Mooney  (ii)

(c) L.D. White (ii1)

() E.N. Gladden (iv)

Codes :
(a) (b) (o)

@A) aGi) @) @

@ ) @O

(C) @) @Gv) (i)

D) @ @) W

Paper-III

Arrangement of
personnel for
accomplishment
of purpose

Relationship in
an enterprise to
fulfill its

functions

Structure
developed for
carrying out the
tasks in the
Government
Human
association for
attainment of
common purpose

(d)

(1)

(i)

@

(it)

8% -1
55‘3355.&
@ BRSO
S8
{b) @.&.5&‘5‘5 (i)
© OS.A35 (i)
@ 5.5.m8S (iv)

&g :

(a) (b
Gu) Gv)
() @
() ()
@) @id)

(c)
(4)
®)
(C)
D)

(iv)
(iii)
(iv)

13

24. JwSB HYEH BokS HBEE® exd Babos,
&8 $BIDS EoH AoHB Lo ¢

égg -11
55522 Qgisaren

BHF agagold
a&iyhen

o ety
oo Babo

Aepoko Fro
Bheren
RooPred
JDErGEo

(©boe® ogxe
FHoB ety
oo @asse)g
3l fntalel

eéaé& OFTHY
PSS DEES
e Do

(d)
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256. Which of the following are features of | 25, D5 . Seng. BAy ($8B0DS SoBrad

Toeal?
fused model of F‘W.. Riggs 7 Select. the S ofarer DGR SORS S
correct answer using the codes given = =

below - JoHED BewHsmw

(a) Particularism (@) DodEaressn

() Attainment (b)  FHS

(c) Ascriptive values (c) eFbE Denden

(d) Functionally diffuse (d) DPo SoBreado/dsn
Codes : -y

(A) () and (d) A) () HoBs (d)

(B) (a), (b) and (d) ®) (a), (b) 6 (d)

(C) (b)and ()
D) (a), (¢) and (d)

©  (b) 20 (o)
D) (a), (c) SoBaSO (d)

26. Who among the following have —
contributed significantly to the study of 26. (Bobrde’ DoTHE HeHdy FoSDH

Comparative Public Administration ? ESomore BrKTRSe St BPD ? HBES

Select the correct answer using codes 505 oHEY JSTTSS 308 :
given below : ‘

(a) =S Do
(a) dJohn William

5} &
(b) Ralph Braibanti b) o) povero

23S 3
(c) Ferrel Heady © =2 &

(d) Dwight Waldo ) FS e

Codes : 565.31

(A) (a), (b) and (c) A)  (a), (b) 06c (c)
® () (a) and (@ ®) (), (a) B ()
(C©) (¢), (@) and (a) (€) (@), (d) Bcsw (a)
(D) (), (c) and (d) (D) (h), (c) 20835 (d)
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27.

28.

According to F.W. Riggs, which of the
following are the three trends
prominent in Comparative Public
Administration ? Find out correct code
given below :

(@
(b)
(c)
(d)
Codes :

(4) (a), (b) and ()
(B) (b). ()} and (d)
(C) (a), (d) and (¢}
(D) (a), (b) and (d)

Legal-formal to behavioural
Non-ecological to ecological
Normative to Emperical

Ideographic to nomothetic

Assertion (A) :

District Collectors were appointed as
the principal census officers of the
respective districts to conduct the
census.

Reason (R) :

Census is a subject in the Union List in
the Seventh Schedule of the
Constitution of India.

Codes :

{A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

Both (A) and (R) are true, but (R)
18 not the correct explanation of

(A).
(A) 1s true, but (R) is false.
(A) is false, but (R) is true.

(B)

(©)
D)

Paper-ITI
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27, I%.day; Of) Heto (BobTaS® Heomes

28.

($3g0e] Srexs T8 Horeeld (3550 585e0en
A ? JB@DS S0 NoHED JHrTRHH
asxos :

(@
(b
(c)
(d) NEDRHESK0E 2TVISEHES 339
555 :

(A) (a), (b) oBuiw (c)

B) (B, (c) HBasw (d)

(€) (a), (@) 0805 (c)

(D) (a), (b) Sdas» (d)

Bér-eroifidd Sol (BSG 8o FH
SBIVEBE S0 HOBE HBowodo J)
DErerESE Dol HFTHES 3D

(BHOXES (A) :

2R BEHOH D S020HS Ber éaégjﬁo
(Sged agegr™ &0 8h seSroon
VoIS,

&S (R) :

88 TrarioKE) DES gen (H5P80
3PP BEE0 COPICHS dEE’D wodsm.
&g, :

(A) (A), (R) Boir $B5S Sdawm (R),

(A) & 5B5 D568

(A), (R) Bo&r 3853 = (R), (A)%
JBIS DNBea o,

(A) 5838, =°0 (R) 8.
(A) £, 529 (R) $BK6.

(B)

(C)
(D)

C-21-17



29.

30.

31.

The Cabinet Secretary functions
directly under the charge of the :

(A) President of India
(B)
(C) Home Minister

Prime Minister
(D) Finance Minister

Assertion (A) :

In the past United States of America
lagged for behind the other nations in
maintaining the standard of civil service
competence and probity.

Reason (R) :

The above was due to the spoils system
so strongly established by the President
Rutherford B. Hays.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).

(A) 1s true, but (R) is false.
(A) is false, but (R) is true.

(B)

©)
(D)

Which of the following is the meaning
of Decentralised Planning ?

(A) It is based on macro-planning
(B) It is planning from below
(C) It is directed planning

(D) It is autonomous of National
Frame-Work of Planning

Paper-III

T

29. SeOIS S8y GO HEE Dol

30.

31.

16

Bot DABPL ¢
(A)
B
(C)
(D)

Eaitet3 cbtgéa

0B

©odBoNE HNtore ol
QG ooid

BSOFES (A) :

29S }655‘513@ #&g‘go, JI8sSe DHcHost
KS08® b nss Beresodl dod® %%
28 Soid.

D (R) :

(R2T05 ErEEHE D. 308 IS DFY)
grr ABd écge? Sreorr 36 20A08.

§GE‘3 :

(A) (A), (R) Bokr $BSS 0655 (R),

(A) & $BS D6

(A), (R) Bo&r 3853 =0 (R), (A)
© $BS DSBes S

(A) 8858, =20 (R) S5
(A) &5, =20 (R) $D30.

(B)

©
(D)

Bod &&° Sﬁo@é@é (HDesrdEKH w80
26 ?
(A)
(B)
©)
D)

ab {po [@HerdS egrdorr DAHDAHE
20 808 igoa) OTPS (2eE

=0 JG8E (HerBE |
56 @B (HeP iEro 09 abo
H858 SOAS.
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32. Which of the .'following are proposed by
Max Weber ?

Identify the correct answer by using
the codes given below :

(a) Traditional Authority

(b) Legal-Rational Authority
(¢) Line Authority

(d) Organisational Authority
Codes

(A) (a), (b) and (d)

(B) (b) and (¢

(C) (a)and (b)

(D) (@), () and (@)

33. Bureaucracy that is committed to the

programs of the political party in power
is called :

(A) Depoliticised bureaucracy
(B) Semi-politicised bureaucracy
(C) Committed bureaucracy

(D) Fully politicised bureaucracy

84. In which year did the Central Secretariat
Service come into existence ?

(A) 1947 (B) 1950
(C) 1951 (D) 1955

35. Foundation course of training provided
to Civil Servants in India is a part of :

A)
(B) Induction Training

Inservice Training

{(C) Training in Foreign Countries
(D)

Training in Universities

Paper-I11

32.

33.

34.

35.

8od 8BS 508 308 (5880
TE BBGS B oWHED BenHsm

(@) Romrond ©bSE5w
(b) 6%—??6333(3 BSE[D
) 85 wbmdsm

(@) 555 pwEHD

§GE‘3 :

(A) (a), (b) 0 (d)

B) (b) LB ()

(O (a) 08w (b)

D) (), (c) B (d)

ohsesos® a8 ocedon SEo BwE)
TSRO JoPS SONS eSS gArEmg)
[ DEOFW :

(A) orefairds T TAE LRSI

(B) @g-magbﬁa a8 NASosn

(©) o exeFsnIngingioo

D) Sr e orad a1 3o
B ASagsn

Bolis KemmoB 38D Q DodEBo B &°8

S50 ?

(A) 1947 (B) 1950

(C) 1951 (D) 1955

EETF0E® BIS o5 eiyhen aF)
EP830E 85 & 85md®D a8 grifo ¢

(A) eodMT 85w

(B) P3E 300D BFes

(C) o =Dy 8%

D) JEDogecrd’ oF) 85m
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36.

37.

38.

Who among the following recommended
the need for preliminary tests in
recruitment of the Civil Services in
India ?

(A)
(B)
©)
(D)

Kothari Committee
AD. Gorwala Committee
Satish Chandra Committee

Subramanyam Committee

Assertion (A) :

All-India Services violate the federal
principle of the Constitution as well as
the autonomy of states.

Reason (R) :

All-India Service Officers are governed
by Central Government rules and State
Governments do not have full control
over them.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).
(A) is true, but (R) is false.
(A) is false, but (R} is true.

(B)

(©)
)]

Whic_:h one of the following is not a
department in the Ministry of Finance,
Government of India ?

A)
(B)
(©)
D)

Department of Economic Affairs
Department of Revenue
Department of Expenditure

Board of Direct taxes

- Paper-III

36.

317.

38.

18

O A3 A

ePSESnE0St DS 2650 6655:‘{30 Fos®
BOWBE HOZomreR LESH DB

(A) b Eé

(B) .8.Fower
() H8T S0l s
(D) olpmgo S8

BO;ES (A)

oo 58 Soghen Teegorio Gho¥) ke
BrgeR) S8 e HoPo (H8BBY
SYOVRTHOW.

D (R) :

oo grds 3o visBe Soll HedeEo
ErP0B0DS AAHErOD o8 Sos°d.
0D TS (H8dEe JoEN efseso
8.

g5, :

(&) (A), (R) Do IBHS H8cs» (R),
(A) & BBS DSBe.

(A), (R)Bor 3853 =3 (R), (A)%
KBS DBBes .

(A) 3333, == (R) 83).

(A) 83, =R (R) $BLB.

(B)

(©
D)

Bob TBE® g (Hebi DE 0@ TS’
2.8 Dgriio 20 O ?

(A) e—sgé JRSoro T
(B) B33y zom

C) Sgab zop

(D) P8 DX 35563
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45‘

46.

47.

48.

Which one of the following is not an
objective of Whitley Councils ?

(A) Ventilation of grievances through
discussions

(B) Providing a forum for securing
co-operation between State and
Civil Servants

(C) Proposing legislation on issue
relating to civil servants

(D) filed by

Hearing petitions
individual civil servant

When the estimates of all the
Government Undertakings find place in
one budget it is known as :

(A) Plural budget
(B) Single budget
(C) Deficit budget
(D) Balanced budget

“Efficiency record” method for
determining the merit for promotion is
practised in the :

(A) USA
(C) UK

(B) France
(D) Japan

The growing power of bureaucracy does
not pose any serious challenges to the
democratic system as the final authority
still rests with the :

(A) dJudiciary

(B) Heads of the government
{C} Parliament

(D) Military

Paper-III

45.

46.

47.

48.

D T oFsed® 2868 =28 BodTBS

B ?

(4) St oo SEv8) SEBESE0

(B) Bgvads dIS 63 a6e
HES DAPGEE o8 Fass doven
Bcho

(C) 225 655263 6555536 Jidge HBD
5 (HBFses Iahto

(D) IS 6% aslve KBRS efok
ATboBEo.

Hg08y a3ESre voSTreos a8
DE S’ FotHIBDEHYE Y awe
Qe ?

(A) 25vf 2Fn

(B) &% G

(C) & ogiw

(D) Soiben DG

BE° 9B oo’ Frlsh sy $583
DIRROT Bdo B :
(A) ooz
(C) ZoPotd

B @
(D) a5

©08% JYArHsEo L oo
Saroore HHEHY a&’Adgino 38
ardngRs $5355 BEPS Sareom
Sr8o 8% ?

(A) Tohaed

(B) (H4Ha=n38%H

©) HEDotn®

(D) Paeg8
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49, Which one of the following is not the
characteristic of a fused society ?

(A) Barter system
(B) Chamber system
(C) Weak Communication System

(D) Elite domination

50. Which one of the following article of the
Constitution of India empowers the
President to appoint C & AG of India ?

(A) Art. 148
(B) Art. 149
(C) Art. 1%17

(D) Art. 151

51. The Judicial control over administrative
acts emanates from the doctrine of :

(A) Judicial Review
(B) Judicial Activism
(C) Rule of Law
(D) Delegated Legislation

Paper-II1

I A R

49. (80b &S BoTrad Jira) oFeso S8

50.

51.

22

26 ?

A) 5% SR D58

(B) Bowb 58

(C) 2odrIRs BB B8P

D) 8o Do

88 sro@odi-elbdy alde
DsrHsedd JSonofod grdd U"{éﬁ@é
go8d orarsor @HESESE D8 dew
KOAKIKD ?

(A) 14835 @HE8wo

(B) 1495 wHBE8m0

(C) 1473 0880

(D) 15135 wdBbwo

Foe SR TEHTP IoHolFn ©I0
Q o eprtore atorhéfd :

(A) oD JavE,
®) wyvep Bardes
(©) BT Feod

D) &8 &3S Qo0
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ng st_ate?nents on | 52. 8od L:)éé)é@és 36&@«'\1‘?6 éézﬁ;gos‘o

)rganisation (PBO) S0moBoD DB £BFIOTP £4p30s S

rect answer from - =
DOHED BeosHdm

(2) :Odsc_ﬁnmqu a’aéa’a;geé‘s DT

.aking and program
$GrD, SEYETO gres 2.8 T

, combined
258 8O o hplesy
committed to
) L0 Siges $OTOE esEE
£DA GOLTOD

: for results

Ep&d wEeITPOBR0

<o, Dich B0 SOND

ert civil
BT

by senior eXP

(©) Bpeyaeiod
Hse :O‘ééééséwes"’ D

ééé“gé‘ SQBRROWV
LoD esaadfmz& 8652_5,;5"@6
FhogotHe 4pbaeon

unctions are

ment f
PBO

zome a

@ ©BpddD

are correct

8 :
2 0 () 9OZID

A «
® () H0c © 4OFED

(a) 4805 (¢) }66@0?63)

rare correct

o¥ve correct
©
) sk FEFTTR $OTHID

53. ‘2 DO (Job loading) @oB :

o £
) xo\ooyee rom one
Ay BP0 &5 450 Kool BE°8 BEIS
e
\Q oaxd'mg of Sl
a
awee 2 @) g, $009, BTE wod
odto

W
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' 420 GHEEPIDSo Joho
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54. In social science research Analogieg are | g4 PSpme
Sources of (analogies)
(A) Data (A) HFrep
(B) C‘oncept (B)  rpgise:
(C) Hypothesis (©) 56§0‘)~
D) Report D) d3ase,

55. So@as g

a’adg§o:6> 23885
LiSt—I LiSt-—II 5%5 - I
(Schemes) ) (Launched) (5‘59&)
(@) Skill Ingi, @ 1% July, 9015 _ ®
(®) Digitaj India (i) 2nd gg 2014 ( ©
(© Swachh Bharat (iii) 16% July, 2015 ( )
Abhiyan O
(d) Make in Indig (iv) 25thSep., 2014 «
Codes : 53.
@ ® © @ .
(A) (i) (iii) (i1) (iv)
' (4)
(B) (i) @) (11) (iv)
(B)
O () i iv) (i)
( (i1 (ii1) (iv Qa © '.
@ Gv) (i) (i) (i)
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tch the following by choosing the
rect code :

List-1
(Schemes)

Pradhan Mantri
Awas Yojana
(PMAY-G)

Pradhan Mantri
Jan Dhan Yojana
(PMJDY)

Pradhan Mantri
Sukanya Samridhi
Yojana (PMSSY)

Pradhan Mantri
MUDRA Yojana
(PMMY)

pdes :

(a) (b)
) Gv) (1)
3y (i) @
) ) @
)) O (@

List-I1
(Date Launched)
(i) 2014, Aug. 28

(1) 2015, Jan. 22

(iii) 2015, April 8

(iv) 2016

(c) (d)
i) @) -
(i) (v)
(i) (i)
(iv) (i)

Tho has formulated the incrementalism
pproach to the study of public policy ?

4) H.A. Simon

B) Y. Dror

C) Charles Lindblom
D) Lasswell

\dministrative Policy is related to :
A)
B)
()
D)

Policy formulation
A broad frame-work for action
Policy Evaluation

None of the above

ar-111

25

56.

57.

58.

$8@od S J0HED Bod Tod
DL 2SN

égé -1 é@)é -1
Hg¥o) (@508)oDS 86)
(a) BepS Do® () 285 Xy, 2014
oT°H Arad
(PMAY-G) .
() BHeed Hol® (i) 225 «8D0, 2015
s 88 drad
(PMJDY)
(0 BHersfood (i) 85 DS, 2015
Q0ERy ‘é:»e)g
@resd
(PMSSY)
(d) HEES Hol®  (iv) 2016
Sooige Breesd
(PMMY)
& -
(@ () (@ @@
A Gvy @) 3G @
B) Gi) @ G) @)
() @v) ) Gi) @)
(D) @ @) Gv) @)

BeHSy DoPS BLigoDS a’agémé‘ ‘@odeo
Seantso’ ée)}gég NG ?

@A) T°5.0. 55

® 36

(C) =B dofaxpo

(D) &B3S

o s oIb HAB JowoholRE :
A) Igrd ErdEed

(B) w3t dEP BN 28 Jpo o
© Qs Doy

(D) 3D =D
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59.

60.

61.

62.

Group theory approach to public policy
refers to :

(A) Equilibrium reached in the group

struggle '
(B)
(&)
(D)

Demands of the losing groups
Manipulated by elites

None of the above

Elite theory approach to public policy
refers to :

(A)
(B)

Policy formulated by Parliament

Policy led and influenced by the
prominent group

(C) Policy formulated by State

Legislature
(D) Policy managed by bureaucracy

Who identified the institutional models,
viz ‘system management model’,
‘bureaucratic process model’,
‘organisational development model’ and
‘conflicting and bargaining model’ to
study the implementation process of a
public policy ?

(A) Thomson Dye
(B) Y. Dror

(C) Herold Lasswell
(D) Richard Elmore

Who was the first Chairman of
Disinvestment Commission of India ?

(A) G.V. Rama Krishna

(B) Dr. Y. Venugopal Reddy
(C) Dr. C. Rangarajan

(D) AM. Khushro

Paper-III
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59. (308 DErS LD KEgEeat v8
DIpod Ko HID wrDR0s :
(A) SBarste End® D688 3%
(B) &&cwd ISt &%8)en
(€) BRpeo IS oSESSEew
D) 23 =H
60. (D40dy Dors GBS Be B
B0 IV 508
A) FEHotn ErRPoBOdS Joms:
(B) (@raey SSwieo TPAHEKO &
(Dgrso mewme Erdross Do
T} B D¢ ErRR0BoDS D
esﬁeéﬂ«%?sa’wéc_) QB8 dgrsc

©
(D)
61. {fobarde® |Sgvdy Ageso e
(S(&cSest WRgo e S
‘a& R (I8 ‘
R O wE e
Soed 5§§a; JSHord
VS ?
(A)
(B)
(C)
(D)

TPodS 8

3. (&6
TG RIS
858 ASIrE

62. 58 &55\53@53065 &3S (Rutw

a0 Em EWRS) BNE) (K¢
OEEHREL ?

@) 2.9 cogy

B) w3 Jewifare 8é

(C) ©o.%. SoKorasS

D) d.cho. iR
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72.

73.

74.

Colonial legacy, social diversity, poverty
and illiteracy are robbing public
administration of its publicness in :

(A) Pre-colonial societies

(B) First World Countries
(C) Second World Countries

(D) Third World Countries

Which one of the following is not a
reason for unhealthy transformation of
public administration in developing
countries 7

(A) Growing awareness and assertion
of people

(B) Increasing discretion without
effective supervision

Consistent increase in the volume
of legislations

©

(D)

Executive increasingly assuming
the role of dispenses of justice

The powers of the Executive have been
increasing due to :

(A)

Administrative discretion
(B) Judicial activism
(C) Right to Information Act

(D) None of the above

Paper-II1
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74.
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Sob TEIS0, FEPRE JD0, DieLo,
REoTgBen (SEHEOS Tl SerdEng
B80S0 2080 ¢
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(B) BED B0 dwods

©) &BaH BSos Dot

D) éaéd&) HHos deest

sy Doty Brodt Wiy o
Demso oS HEEDS $68D Sy
BoBeels Bod T8S° Db S0 = ?

(A) Bad® DLIHHY) S0 DO

©oBsgo

(B) 8IS H85REee BHome EIHHF)

DB STOH:B0
(C) ==dare Sogy DBSHBore G0

(D) QoS $8o as’plore TyoD

DoxeEsm P SeroSKo

SEETRGTE égo dHPE0 VKNS
=560 ¢

(A) oz IISS
(B)
©

D)

T5cd oy (Bairdeod
SRS Sy, S0
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Questions 72 to 75
LIMITS OF PUBLICNESS

The colonial legacy, social diversity,
poverty and illiteracy and the peculiarity of
political process combine together to rob
public administration of its publicness in
most developing countries. There are three
more reasons for this unhealthy
transformation of public administration in
these countries. Firstly, administrative
discretion is fairly widely used by public
servants at all levels in the administration.
With more and more expansion of government
activities, the lower level functionaries
engaged in field administration come to enjoy
a great deal of discretionary powers.
Administrative discretion, when exercised
without effective supervision, is apt to breed
malpractices and corruptions. Secondly,
there has been a consistent increase in the
volume of legislations to cope with expanding
government activities. With increasing
complexity of legislative work, the
legislatures have been granting the executive
work and more discretionary powers and
leaving the details to be worked out by the
latter. Delegated legislation has the tendency
to magnify executive strength and discretion.
Thereby, the executive in many developing
countries has increasingly been assuming the
role of dispenser of justice also.
Administrative adjudication and the use of
administrative tribunals have been on the
increase in many countries.

Administrative discretion, delegated
legislation and administrative adjudication
have the effect of increasing the powers of
the executive which is already strong due to
the colonial past. Institutional devices are
therefore necessary to check executive
inflation and guard against corruption and
administrative injustice (Mohit Bhattacharya,
2008)
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75.

Assertiom (A) :

Administrative discretion, delegated
legislation and administrative
adjudication have
increasing the powers of the executive
which is already strong due to the
colonial past.

Reason (R) :

Institutional devices are necessary to
check executive inflation and guard
against corruption and administrative
injustice.

Codes :

(A) Both (A) and (R) are true and (R)
1s the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
i1s not the correct explanation of

(A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
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63.

64.

Which of the following is the core

component of Industrial Policy

Resolution of 1956 ?

(A) Privatization of Indian Railways

(B) All Industries of basic and
strategic importance are to be in
the public sector

(C) Government

imports

All stock exchanges should be

controlled by the Government

restrictions on

(D)

Arrange the following committees in
chronological order by selecting the
correct code :

(a) GVK Rao Committee

(b) Balwant Rai Mehta Committee
(¢) Ashok Mehta Committee
Codes :

A @, ®), ©

(B) (), (c), (a)

(C) (c), (a), (b)

@D M), (@), (©

Which one of the following is the
compulsory provision of 73rd
Constitution (Amendment) Act, 1992 ?

(A) Reservation of seats for women

(B) Reservation of seats for Backward
Castes

(C) Granting Financial Power to

Panchayats

Representation of Members of

Parliament in Gram Panchayats

(0

Which one of the following is not a
Constitutional Commission ?

(A) Finance Commission

(B) Niti Ayog

(C) Election Commission

(D) Union Public Service Commission
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68.

69.

70.

71.

The Rural-Urban Relationship
Committee gave its recommendations in
the vear :

(A) 1950
(Cy 1966

(B) 1960
D) 1978

Reservation of seats for women in
Panchayat Raj Institutions seeks to
ensure :

(A)

Economic welfare of women and
children

Gender parity of rural society

B)
©

Participation of women in public
life

Empowerment of women as
individuals

)

Association of Voluntary Agencies for
Rural Development was established in
the year :
(A) 1950

(C) 1970

(B) 1963
(D) 1958

The goal of the Integrated Rural
Development Programme was to :

(A)
(B)

Provide employment and income

Increase the

production

agricultural
(C) Increase the access of the poor to
infrastructure and services

(D) All the above

State Social Welfare Board members
are nominated by the Central Social
Welfare Board and state government
respectively in the ratio of :

(A) 90:10 (B) 80:20
() 50:50 (D) 60:40
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67.

68.
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69.

70.

71.

IR R

[re&oes-3560 Somogre o 835 93055
J08YoDS RoREvo :
(A) 1950
(C) 1966

(B) 1960
(D) 1978
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(A) Hobrwe, 8 €S Bogavo

(B) (Do SSrsos® YoNIEJS
PSPt o)

P 2208 HTrde grKrEngo

Hodetfe $8K8 338860

(©)

wﬁbwﬁ)@% SgfHod Boge SoFry
(Association of Voluntary Agencies for
Rural Development) 20°)&» 385

Dosdyso :
(A) 1950 (B) 1963
(C) 1970 (D} 1958

$8gy8 (roerfid sEHo M) oo

88 SomoHoNIBIP GOTE :

(A) 6B, swrdire Sy

(B) Sgdch aEmsss 20D
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Y
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S0l Fotns Bokh B LB TiY
epEmien SEosre S A o Ado
Jypow :

(A) 90:10
) 50:50

)

(B) 80:20
(D) 60:40
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